

PROPERTIES OF A NEW CLASS OF BIHARMONIC UNIVALENT
FUNCTIONOLUBUNMI A. FADIPE-JOSEPH¹ AND OLANIKE R. SALAMI

ABSTRACT. A new class of biharmonic univalent functions using the modified Salagean differential operator was introduced. Properties of functions in the class were established. The work generalized some earlier results.

1. INTRODUCTION

Let A_λ denote the class of functions of the form:

$$f(z) = z^{\lambda+1} + \sum_{k=2}^{\infty} a_k z^{\lambda+k}, \quad 0 \leq \lambda < 1,$$

which are analytic in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$. If for convenience, we set $A_0 = A$, we see that A denote the class of functions of the form:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

which are analytic in the open unit disk $\mathbb{U}$, normalized by $f(0) = 0$ and $f'(0) = 1$. Moreover, we have $f(z) \in A \implies z^\lambda f(z) \in A_\lambda$, $0 \leq \lambda < 1$.

A continuous function $f = u + iv$ is a complex-valued harmonic function in a domain $D \subset \mathbb{C}$ if both u and v are real harmonic in D . In any simply connected domain, we can write

$$(1.1) \quad F = H + \overline{G}$$

where H and G are analytic in D . We call H the analytic part and G the coanalytic part of F . A necessary and sufficient condition for F to be locally univalent and sense-preserving in D is that $|H'| > |G'|$ in D . Denote by $BH^0(U)$, the class of functions F of the form (1.1) that are univalent and sense-preserving in the unit disk U . The subclasses of biharmonic univalent functions have been studied by some authors for different purposes and different properties (see [1],[7] for details).

¹corresponding author

2010 *Mathematics Subject Classification.* 30C45.

Key words and phrases. Biharmonic univalent function, Harmonic univalent function, sense-preserving, Sălăgean differential operator.

2. PRELIMINARIES

Let $BH_\lambda^0(\mathbf{U})$, ($0 \leq \lambda < 1$) denote the set of all biharmonic functions F in $\mathbf{U}$ with the following form

$$\begin{aligned} F(z) &= \sum_{k=1}^2 |z|^{2(k-1)} (h_k(z) + \overline{g_k(z)}) \\ &= \sum_{k=1}^2 |z|^{2(k-1)} \left(\sum_{j=1}^{\infty} a_{j,k} z^{\lambda+j} + \sum_{j=1}^{\infty} \overline{b_{j,k} z^{\lambda+j}} \right), \\ F(z) &= \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} a_{j,k} z^{j+\lambda} + \sum_{k=1}^2 \sum_{j=1}^{\infty} \overline{|z|^{2(k-1)} b_{j,k} z^{j+\lambda}}. \end{aligned}$$

with $a_{1,1} = 1; a_{1,2} = b_{1,1} = b_{1,2} = 0$. Note that g_k and h_k are analytic in the open unit disk $\mathbf{U}$ normalized by $f(0) = 0$ and $f'(0) = 1$. Also, for convenience, we set $BH_0^0(U) = BH^0(U)$; we see that the class $BH^0(U)$ consists of functions of the form

$$F(z) = \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} a_{j,k} z^j + \sum_{k=1}^2 \sum_{j=1}^{\infty} \overline{|z|^{2(k-1)} b_{j,k} z^j}$$

with

$$(2.1) \quad \left. \begin{aligned} H(z) &= \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} a_{j,k} z^{j+\lambda} \\ G(z) &= \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} b_{j,k} z^{j+\lambda} \end{aligned} \right\}.$$

Let

$$F(z)^\beta = H(z)^\beta + \overline{G(z)^\beta}$$

Now, we expand (2.1) by binomial theorem. Thus,

$$(2.2) \quad \left. \begin{aligned} H(z)^\beta &= z^{\beta(\lambda+1)} + \beta \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ G(z)^\beta &= \beta \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \end{aligned} \right\}.$$

We define the modified Salagean operator, $D^n F(z)^\beta$ as:

$$(2.3) \quad D^n F(z)^\beta = D^n H(z)^\beta + (-1)^n \overline{D^n G(z)^\beta}, (n \in \mathbb{N}_0)$$

where,

$$\left. \begin{aligned} D^n H(z)^\beta &= z^{\beta(\lambda+1)} + \beta[2(k-1) + j + \lambda]^n \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ D^n G(z)^\beta &= \beta[2(k-1) + j + \lambda]^n \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \end{aligned} \right\}.$$

Remark 2.1. If $\beta = 1$ and $\lambda = 0$, then $D^n f(z)^\beta$ becomes the known modified Salagean differential operator.

Let $BH_\lambda^0(n, \beta, \alpha)$ be the family of biharmonic function of the form (2.3) such that,

$$(2.4) \quad \operatorname{Re} \left\{ \frac{D^{n+1} F(z)^\beta}{D^n F(z)^\beta} \right\} > \alpha, \quad \beta > 0, 0 \leq \alpha < 1, 0 \leq \lambda < 1 (n \in \mathbb{N}_0)$$

We also let TBH^0 consists of biharmonic functions of the form

$F(z)^\beta = H(z)^\beta + \overline{G(z)^\beta}$ in $BH_\lambda^0(n, \beta, \alpha)$ so that H and G are of the form:

$$(2.5) \quad \left. \begin{aligned} H^\beta &= z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} |a_{j,k}| z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ G^\beta &= (-1)^n \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} |b_{j,k}| z^{(\beta-1)(\lambda+1)+(\lambda+j)} \end{aligned} \right\},$$

which is a subclass of $BH_\lambda^0(n, \beta, \alpha)$ and satisfying the conditions (2.4). The class $BH_\lambda^0(n, \beta, \alpha)$ includes a variety of well known subclasses of S_H .

Remark 2.2. (1) If $k = 1$, $n = 0$, and $\beta = 1$ and $\lambda = 0$ then $BH_0^0(0, 1, \alpha) \equiv S_H^*(\alpha)$, which is the class of sense preserving biharmonic univalent functions of f which are starlike of order α in U .
 (2) If $k = 1$, $n = 1$, and $\beta = 1$ and $\lambda = 0$ then $BH_0^0(1, 1, \alpha) \equiv K_H^*(\alpha)$, which is the class of sense preserving biharmonic univalent functions of f which are convex of order α in U .

3. MAIN RESULTS

In this section we prove the main results. We now give results on the family of $BH_\lambda^0(n, \beta, \alpha)$ and its subclass.

Theorem 3.1. Let $F(z)^\beta = H(z)^\beta + G(z)^\beta$, where $H(z)^\beta$ and $G(z)^\beta$ are given by (2.2). If

$$\begin{aligned} \sum_{k=1}^2 \sum_{j=1}^{\infty} [(2(k-1) + j + \lambda - \alpha)|a_{j,k}| + (2(k-1) + j + \lambda + \alpha)|b_{j,k}|] \beta(2(k-1) + j + \lambda)^n \\ (3.1) \quad \leq (1 + \beta)(1 - \alpha) \end{aligned}$$

where $a_{1,1} = 1, a_{1,2} = b_{1,2} = b_{1,1} = 0, n \in \mathbb{N}_0, 0 \leq \lambda < 1, \beta \geq 1$ and $0 \leq \alpha < 0$. Then $F(z)^\beta$ is univalent and sense-preserving in U and $F \in BH_\lambda^0(n, \beta, \alpha)$.

Proof. Suppose $z_1^\beta \neq z_2^\beta$. Then,

$$\begin{aligned} \left| \frac{F(z_1)^\beta - F(z_2)^\beta}{H(z_1)^\beta - H(z_2)^\beta} \right| &= \left| \frac{H(z_1)^\beta + \overline{G(z_1)^\beta} - H(z_2)^\beta + \overline{G(z_2)^\beta}}{H(z_1)^\beta - H(z_2)^\beta} \right| \\ &= \left| \frac{H(z_1)^\beta - H(z_2)^\beta + \overline{G(z_1)^\beta} - \overline{G(z_2)^\beta}}{H(z_1)^\beta - H(z_2)^\beta} \right| \\ &= \left| 1 + \frac{G(z_1)^\beta - G(z_2)^\beta}{H(z_1)^\beta - H(z_2)^\beta} \right| \\ &\geq 1 - \left| \frac{G(z_1)^\beta - G(z_2)^\beta}{H(z_1)^\beta - H(z_2)^\beta} \right| \\ &> \frac{\sum_{k=1}^2 \sum_{j=1}^{\infty} [2(k-1) + (\beta-1)(\lambda+1) + (\lambda+j)] b_{j,k}}{1 - \sum_{k=1}^2 \sum_{j=2}^{\infty} [2(k-1) + (\beta-1)(\lambda+1) + (\lambda+j)] a_{j,k}} \\ &\geq \frac{\sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^n \frac{2(k-1) + j + \lambda + \alpha}{1 - \alpha} |b_{j,k}|}{\sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n \frac{2(k-1) + j - \alpha}{1 - \alpha} |a_{j,k}|} > 0 \\ &\quad : \left| \frac{F(z_1)^\beta - F(z_2)^\beta}{H(z_1)^\beta - H(z_2)^\beta} \right| > 0. \end{aligned}$$

Hence, $F(z_1)^\beta \neq F(z_2)^\beta$, which proves the univalence. To show that F^β is sense-preserving, it is sufficient to show that $|H'(z)^\beta| > |G'(z)^\beta|$.

Now,

$$\begin{aligned}
|H'(z)^\beta| &= \left| \left(z^\beta(\lambda+1) + \beta \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \right)' \right| \\
&= \beta \left[(\lambda+1) |z|^{\beta(\lambda+1)-1} \right. \\
&\quad \left. - \sum_{k=1}^2 \sum_{j=2}^{\infty} (2(k-1) + j + (\beta-1)(\lambda+1) + (\lambda+j)) |z|^{2(k-1)} |a_{j,k}| |z|^{(\beta-1)(\lambda+1)+(\lambda+j)-1} \right] \\
&> \beta \left[(\lambda+1) - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n \frac{2(k-1) + j + \lambda - \alpha}{1 - \alpha} |a_{j,k}| \right] \\
&\geq \beta \left[\sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n \frac{2(k-1) + j + \lambda + \alpha}{1 - \alpha} |b_{j,k}| \right] \\
&\geq \beta \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)-1} \\
&\geq |G'(z)^\beta|.
\end{aligned}$$

Lastly, we show that $F^\beta \in BH_\lambda^0(n, \beta, \alpha)$. By (2.4),

$$\operatorname{Re} \left\{ \frac{D^{n+1}F(z)^\beta}{D^n F(z)^\beta} \right\} > \alpha = \operatorname{Re} \left\{ \frac{D^{n+1}H(z)^\beta + (-1)^{n+1} \overline{D^{n+1}G(z)^\beta}}{D^n H(z)^\beta + (-1)^n \overline{D^n G(z)^\beta}} \right\} > \alpha.$$

Using the fact that $\operatorname{Re} \{\omega\} > \alpha$ if and only if $|1 - \alpha + \omega| > |1 + \alpha - \omega|$, it suffices to show that:

$$\begin{aligned}
&\left| 1 - \alpha + \frac{D^{n+1}F(z)^\beta}{D^n F(z)^\beta} \right| - \left| 1 + \alpha - \frac{D^{n+1}F(z)^\beta}{D^n F(z)^\beta} \right| \geq 0 \\
&\left| \frac{D^{n+1}F(z)^\beta + (1 - \alpha)D^n F(z)^\beta}{D^n F(z)^\beta} \right| - \left| \frac{-D^{n+1}F(z)^\beta + (1 + \alpha)D^n F(z)^\beta}{D^n F(z)^\beta} \right| \geq 0.
\end{aligned}$$

Now,

$$\begin{aligned}
&|D^{n+1}F(z)^\beta + (1 - \alpha)D^n F(z)^\beta| - |D^{n+1}F(z)^\beta + (1 + \alpha)D^n F(z)^\beta| \\
&= \left| D^{n+1}H(z)^\beta + (-1)^{n+1} \overline{D^{n+1}G(z)^\beta} + (1 - \alpha)[D^n H(z)^\beta + (-1)^n \overline{D^n G(z)^\beta}] \right| \\
&\quad - \left| D^{n+1}H(z)^\beta + (-1)^{n+1} \overline{D^{n+1}G(z)^\beta} - (1 + \alpha)[D^n H(z)^\beta + (-1)^n \overline{D^n G(z)^\beta}] \right|
\end{aligned}$$

$$\begin{aligned}
 &= |z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^{n+1} \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (1-\alpha) [z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} \overline{b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}] \\
 &\quad - |z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^{n+1} \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} \overline{b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \\
 &\quad - (1+\alpha) [z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^{n+1} |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}] \\
 &= |(2-\alpha)z^{\beta(\lambda+1)} \\
 &\quad + \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda + 1 - \alpha) |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda - 1 + \alpha) |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - |(-\alpha)z^{\beta(\lambda+1)} \\
 &\quad + \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda - 1 - \alpha) |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda + 1 + \alpha) |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}| \\
 &\geq (2-\alpha)|z|^{\beta} \\
 &\quad - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda + 1 - \alpha) |z|^{2(k-1)} |a_{j,k}| |z|^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda - 1 + \alpha) |z|^{2(k-1)} |b_{j,k}| |z|^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - |(-\alpha)z|^{\beta(\lambda+1)} \\
 &\quad - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) - j + \lambda - 1 - \alpha) |z|^{2(k-1)} |a_{j,k}| |z|^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1) + j + \lambda)^n (2(k-1) + j + \lambda + 1 + \alpha) |z|^{2(k-1)} |b_{j,k}| |z|^{(\beta-1)(\lambda+1)+(\lambda+j)}|
 \end{aligned}$$

$$\begin{aligned}
&= 2(1-\alpha) - 2 \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n (2(k-1)+j+\lambda-\alpha) |a_{j,k}| \\
&\quad - 2 \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n (2(k-1)+j+\lambda+\alpha) |b_{j,k}| \\
&= 2(1-\alpha) \left[1 - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n \left(\frac{2(k-1)+j+\lambda-\alpha}{1-\alpha} \right) |a_{j,k}| - \right. \\
&\quad \left. \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n \left(\frac{2(k-1)+j+\lambda+\alpha}{1-\alpha} \right) |b_{j,k}| \right].
\end{aligned}$$

The last expression is non negative by the hypothesis of the theorem. This completes the proof. $\square$

In the following theorem, it is shown that the inequality condition in (2.4) is also necessary for the functions in the subclass $TBH_{\lambda}^0(n, \beta, \alpha)$.

Theorem 3.2. *Let $F^{\beta} = H^{\beta} + G^{\beta}$ be given by (2.5). Then $F^{\beta} \in TBH_{\lambda}^0(n, \beta, \alpha)$ if and only if*

$$\sum_{k=1}^2 \sum_{j=1}^{\infty} [(2(k-1)+j+\lambda-\alpha) |a_{j,k}| + (2(k-1)+j+\lambda+\alpha) |b_{j,k}|] \beta(2(k-1)+j+\lambda)^n \leq (1+\beta)(1-\alpha)$$

Proof. Since $TBH_{\lambda}^0(n, \beta, \alpha) \subset BH_{\lambda}^0(n, \beta, \alpha)$, we prove only the if part of the theorem. Thus,

$$\operatorname{Re} \left\{ \frac{D^{n+1}F(z)^{\beta}}{D^n F(z)^{\beta}} \right\} \geq \alpha,$$

where $\beta \geq 1$, $0 \leq \alpha < 1$, $n \in \mathbb{N}_0$

$$\Rightarrow \operatorname{Re} \left\{ \frac{D^{n+1}F(z)^{\beta}}{D^n F(z)^{\beta}} - \alpha \right\} \geq 0.$$

We have:

$$\operatorname{Re} \left\{ \frac{D^{n+1}F(z)^{\beta} - \alpha D^n F(z)^{\beta}}{D^n F(z)^{\beta}} \right\} \geq 0,$$

$$\begin{aligned}
 D^{n+1}F(z)^\beta &= z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^{n+1} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^{n+1} \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^{n+1} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 D^n F(z)^\beta &= z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &\quad + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
 &= \operatorname{Re} \left\{ \frac{z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda) |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{-\alpha z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. \frac{z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. \frac{-(-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda) |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{-(-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \right\} \\
 &= \operatorname{Re} \left\{ \frac{z^{\beta(\lambda+1)} - \alpha z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda) |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. \frac{+ \sum_{k=1}^2 \sum_{j=1}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{-(-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \right\} \\
 &= \operatorname{Re} \left\{ \frac{(1-\alpha) z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda-\alpha) |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{-(-1)^{2n} \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda+\alpha) |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right. \\
 &\quad \left. \frac{z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} a_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}}{+ (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \alpha \beta(2(k-1)+j+\lambda)^n |z|^{2(k-1)} b_{j,k} z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \right\} \\
 &\geq 0.
 \end{aligned}$$

The above required condition must hold for all values of z in U . If we choose the values of z on the positive real axis, where $0 \leq z = r < 1$, we must have:

$$\frac{(1-\alpha) - \sum_{k=1}^2 \sum_{j=2}^{\infty} \beta(2(k-1)+j+\lambda)^n \cdot (2(k-1)+j+\lambda-\alpha) a_{j,k} r^{2(k-1)+j-1}}{-\sum_{k=1}^2 \sum_{j=1}^{\infty} \beta(2(k-1)+j+\lambda)^n (2(k-1)+j+\lambda+\alpha) b_{j,k} r^{2(k-1)+j-1}} \geq 0$$

If the condition (3.1) does not hold, then the numerator in the last inequality is negative for r sufficiently close to 1. Hence, there exists $z_0 = r_0$ in $(0, 1)$ for which the quotient in the last inequality is negative.

This contradicts the required condition for $F^\beta \in TBH_\lambda^0(n, \beta, \alpha)$ and the proof is complete. $\square$

Theorem 3.3. *Let $F^\beta = H^\beta + G^\beta$ be given by (2.5). Then $F^\beta \in TBH_\lambda^0(n, \beta, \alpha)$ if and only if*

$$F^\beta = \sum_{k=1}^2 \sum_{j=1}^{\infty} (X_{j,k} H_{j,k}(z)^\beta + Y_{j,k} G_{j,k}(z)^\beta),$$

where

$$\begin{aligned} H_{1,1}(z)^\beta &= z^{\beta(\lambda+1)} \\ H_{j,k}(z)^\beta &= z^{\beta(\lambda+1)} - \frac{(1-\alpha)}{(2(k-1)+j+\lambda-\alpha)(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ &\quad j = 2, 3, \dots \quad 1 \leq k \leq 2 \\ G_{j,k}(z)^\beta &= z^{\beta(\lambda+1)} + \frac{(-1)^n(1-\alpha)}{(2(k-1)+j+\lambda+\alpha)(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ &\quad j = 1, 2, \dots \quad 1 \leq k \leq 2 \end{aligned}$$

Proof.

$$\begin{aligned} F(z)^\beta &= X_{1,1} H_{1,1}(z)^\beta + Y_{1,1} G_{1,1}(z)^\beta + \sum_{k=1}^2 \sum_{j=2}^{\infty} (X_{j,k} H_{j,k}(z)^\beta + Y_{j,k} G_{j,k}(z)^\beta) \\ &= X_{1,1} z^{\beta(\lambda+1)} + Y_{1,1} [z^{\beta(\lambda+1)} + (-1)^n \frac{1-\alpha}{(\lambda+1+\alpha)(\lambda+1)^n} z^{\beta(\lambda+1)}] \\ &\quad + \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} [z^{\beta(\lambda+1)} - \frac{(1-\alpha)}{(2(k-1)+j+\lambda-\alpha)(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)}] \\ &\quad + \sum_{k=1}^2 \sum_{j=2}^{\infty} Y_{j,k} [z^{\beta(\lambda+1)} + (-1)^n \frac{(1-\alpha)}{(2(k-1)+j+\lambda+\alpha)(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)}] \\ &= X_{1,1} z^{\beta(\lambda+1)} + Y_{1,1} z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} Y_{j,k} z^{\beta(\lambda+1)} \\ &\quad - \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} \frac{(1-\alpha)}{(2(k-1)+j+\lambda-\alpha)(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ &\quad + (-1)^n \frac{(1-\alpha)}{(\lambda+1+\alpha)(\lambda+1)^n} Y_{1,1} z^{\beta(\lambda+1)} \\ &\quad + (-1)^n \sum_{k=1}^2 \sum_{j=2}^{\infty} Y_{j,k} \left(\frac{1-\alpha}{2(k-1)+j+\lambda+\alpha} \right) (2(k-1)+j+\lambda)^n |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\ &= \sum_{k=1}^2 \sum_{j=1}^{\infty} (X_{j,k} + Y_{j,k}) + (-1)^n \left(\frac{1-\alpha}{\lambda+1+\alpha} \right) Y_{1,1} z^{\beta(\lambda+1)} \\ &\quad + (-1)^n \left(\frac{1-\alpha}{2(k-1)+j+\lambda+\alpha} \right) (2(k-1)+j+\lambda)^n \\ &\quad \times \sum_{k=1}^2 \sum_{j=2}^{\infty} (2(k-1)+j+\lambda)^n |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} Y_{j,k}. \end{aligned}$$

Then,

$$\begin{aligned}
 & \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta \left\{ \frac{2(k-1) + j + \lambda - \alpha}{1 - \alpha} \right\} (2(k-1) + j + \lambda)^n |a_{j,k}| + \\
 & + \left\{ \frac{2(k-1) + j + \lambda + \alpha}{1 - \alpha} \right\} (2(k-1) + j + \lambda)^n |b_{j,k}| \\
 = & \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta \left\{ \frac{2(k-1) + j + \lambda - \alpha}{1 - \alpha} \right\} (2(k-1) + j + \lambda)^n \\
 & \times \left| \frac{(1 - \alpha) X_{j,k}}{(2(k-1) + j + \lambda - \alpha) \beta (2(k-1) + j + \lambda)^n} \right| \\
 & + \left\{ \frac{2(k-1) + j + \lambda + \alpha}{1 - \alpha} \right\} (2(k-1) + j + \lambda)^n \\
 & \times \left| \frac{(1 - \alpha) X_{j,k}}{(2(k-1) + j + \lambda - \alpha) \beta (2(k-1) + j + \lambda)^n} \right| \\
 = & \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} + \sum_{k=1}^2 \sum_{j=1}^{\infty} Y_{j,k} = 1 - X_{1,1} \leq 1
 \end{aligned}$$

Conversely, suppose $F^\beta \in TBH_\lambda^0(n, \beta, \alpha)$, by setting:

$$\begin{aligned}
 X_{j,k} &= \left(\frac{2(k-1) + j + \lambda - \alpha}{1 - \alpha} \right) \beta (2(k-1) + j + \lambda)^n |a_{j,k}|; 0 \leq X_{j,k} \leq 1; j = 2, 3, \dots \\
 Y_{j,k} &= \left(\frac{2(k-1) + j + \lambda + \alpha}{1 - \alpha} \right) \beta (2(k-1) + j + \lambda)^n |b_{j,k}|; 0 \leq Y_{j,k} \leq 1; j = 1, 2, \dots
 \end{aligned}$$

and

$$X_{1,1} = 1 - \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} - \sum_{k=1}^2 \sum_{j=1}^{\infty} Y_{j,k}.$$

Therefore,

$$\begin{aligned}
 F(z)^\beta &= z^{\beta(\lambda+1)} - \beta \sum_{k=1}^2 \sum_{j=2}^{\infty} |z|^{2(k-1)} |a_{j,k}| z^{(\beta-1)(\lambda+1) + (\lambda+j)} \\
 &+ (-1)^n \beta \sum_{k=1}^2 \sum_{j=1}^{\infty} |z|^{2(k-1)} |b_{j,k}| \overline{z^{(\beta-1)(\lambda+1) + (\lambda+j)}}
 \end{aligned}$$

$$\begin{aligned}
&= z^{\beta(\lambda+1)} - \sum_{k=1}^2 \sum_{j=2}^{\infty} \left(\frac{1-\alpha}{2(k-1)+j+\lambda-\alpha} \right) \frac{X_{j,k}}{(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} z^{(\beta-1)(\lambda+1)+(\lambda+j)} \\
&\quad + (-1)^n \sum_{k=1}^2 \sum_{j=1}^{\infty} \beta \left(\frac{1-\alpha}{2(k-1)+j+\lambda+\alpha} \right) \frac{Y_{j,k}}{(2(k-1)+j+\lambda)^n} |z|^{2(k-1)} \overline{z^{(\beta-1)(\lambda+1)+(\lambda+j)}} \\
&= z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} (H_{j,k} - z^{\beta(\lambda+1)}) X_{j,k} + \sum_{k=1}^2 \sum_{j=1}^{\infty} (G_{j,k} - z^{\beta(\lambda)}) Y_{j,k} \\
&= \sum_{k=1}^2 \sum_{j=2}^{\infty} H_{j,k} (z)^{\beta} X_{j,k} + \sum_{k=1}^2 \sum_{j=1}^{\infty} G_{j,k} (z)^{\beta} Y_{j,k} + z^{\beta(\lambda+1)} \left[1 - \sum_{k=1}^2 \sum_{j=2}^{\infty} X_{j,k} - \sum_{k=1}^2 \sum_{j=1}^{\infty} Y_{j,k} \right] \\
&= X_{1,1} z^{\beta(\lambda+1)} + \sum_{k=1}^2 \sum_{j=2}^{\infty} (H_{j,k} (z)^{\beta} X_{j,k} + G_{j,k} (z)^{\beta} Y_{j,k}) .
\end{aligned}$$

as required. $\square$

Corollary 3.1. *Let $F = H + \overline{G}$. If $\sum_{j=1}^{\infty} [(j-\alpha)|a_j| + (j+\alpha)|b_j|] \leq 2(1-\alpha)$ where $a_1 = 1$, $n \in \mathbb{N}_0$ and $0 \leq \alpha < 1$, then $f(z) \in BH_0^0(0, 1, \alpha) \equiv S_H^*(\alpha)$.*

Proof. The proof of the corollary follows if we put $\beta = 1$, $k = 1$, $\lambda = 0$ and $n = 0$ in Theorem 3.1. $\square$

Remark 3.1. *This is the result obtained by Jahangiri, [3].*

Corollary 3.2. *Let $F(z)^{\beta} = H(z)^{\beta} + \overline{G(z)^{\beta}}$, where $H(z)^{\beta}$, $G(z)^{\beta}$ are given by (2.2). If $\sum_{j=1}^{\infty} [(j-\alpha)|a_j| + (j+\alpha)|b_j|] \beta j^n \leq (1+\beta)(1-\alpha)$ where $a_1 = 1$, $n \in \mathbb{N}_0$, $\beta \geq 1$ and $0 \leq \alpha < 1$, then $F(z)^{\beta} \in BH_0^0(n, \alpha, \beta) \equiv \Phi(n, \beta, \alpha)$.*

Proof. The proof of the corollary follows if we put $k = 1$, $\lambda = 0$ in Theorem 3.1. $\square$

Remark 3.2. *This is the result obtained by Al-shaqsi et.al. [4].*

Corollary 3.3. *Let $F(z)^{\beta} = H(z)^{\beta} + \overline{G(z)^{\beta}}$, where $H(z)^{\beta}$, $G(z)^{\beta}$ are given by (2.5). If $\sum_{j=1}^{\infty} [(j-\alpha)|a_j| + (j+\alpha)|b_j|] \beta j^n \leq (1+\beta)(1-\alpha)$ where $a_1 = 1$, $n \in \mathbb{N}_0$, $\beta \geq 1$ and $0 \leq \alpha < 1$, then $F(z)^{\beta} \in TBH_0^0(n, \alpha, \beta) \equiv \overline{\Phi(n, \beta, \alpha)}$.*

Proof. Put $k = 1$, $\lambda = 0$ in Theorem 3.2. $\square$

Remark 3.3. *This is the result obtained by Al-shaqsi et.al. [4].*

Corollary 3.4. *Let $F(z)^{\beta} = H(z)^{\beta} + \overline{G(z)^{\beta}}$, where $H(z)^{\beta}$, $G(z)^{\beta}$ are given by (2.2). If $\sum_{k=1}^2 \sum_{j=1}^{\infty} [j+\lambda-\alpha]|a_{j,k}| + (j+\lambda+\alpha)|b_{j,k}| \beta (j+\lambda)^n \leq (1+\beta)(1-\alpha)$, then $f(z)$ is univalent, sense preserving and $f \in BH_{\lambda}^0(n, \alpha, \beta) \equiv \Phi_{\lambda}(n, \alpha, \beta)$.*

Proof. The proof of the corollary follows if we put $k = 1$ in Theorem 3.1. $\square$

Remark 3.4. *This is the result obtained by Fadipe-Joseph et. al.[2].*

Corollary 3.5. *Let $F(z)^{\beta} = H(z)^{\beta} + \overline{G(z)^{\beta}}$, where $H(z)^{\beta}$, $G(z)^{\beta}$ are given by (2.5). If $\sum_{k=1}^2 \sum_{j=1}^{\infty} [j+\lambda-\alpha]|a_{j,k}| + (j+\lambda+\alpha)|b_{j,k}| \beta (j+\lambda)^n \leq (1+\beta)(1-\alpha)$, then $f \in TBH_{\lambda}^0(n, \alpha, \beta) \equiv \overline{\Phi_{\lambda}(n, \alpha, \beta)}$.*

Proof. The proof of the corollary follows if we put $k = 1$ in Theorem 3.2. $\square$

Remark 3.5. This is the result obtained by Fadipe-Joseph et.al.[2].

Corollary 3.6. Let $F^\beta = H^\beta + \overline{G^\beta}$. If

$$\sum_{k=1}^2 \sum_{j=1}^{\infty} [(2(k-1) + j + \lambda - \alpha)|a_{j,k}| + (2(k-1) + j + \lambda + \alpha)|b_{j,k}|] (2(k-1) + j + \lambda)^n \leq 2(1 - \alpha)$$

where $a_{1,1} = 1$, $n \in \mathbb{N}_0$ and $0 \leq \alpha < 1$, then $F(z)$ is in the class $BH_\lambda^0(n, 1, \alpha)$.

Proof. The proof of the corollary follows if we put $\beta = 1$ in Theorem 3.1. $\square$

Corollary 3.7. Let $F = H + \overline{G}$. If

$$\sum_{k=1}^2 \sum_{j=1}^{\infty} [(2(k-1) + j)(|a_{j,k}| + (2(k-1) + j)|b_{j,k}|)] \leq 2$$

where $a_{1,1} = 1$, $n \in \mathbb{N}_0$, then $F(z)$ is univalent and sense preserving in U and $F(z) \in BH_0^0(0, 1, 0) \equiv BH^0(U)$.

Proof. The proof of the corollary follows if we put $\beta = 1$ and $\alpha = 0$ and $\lambda = 0$ and $n = 0$ in Theorem 3.1. $\square$

Remark 3.6. This is the result obtained by Qiao and Wang, [7].

ACKNOWLEDGEMENT

The first author acknowledges the Abdus Salam International Centre for Theoretical Physics(ICTP), Italy for the associateship award which enhances her research.

REFERENCES

- [1] J. CHEN, X. WANG: *On Certain Classes of Biharmonic Mappings Defined by Convolution*, Abstract and Applied Analysis, **2012**, Article ID379130, 10 pages.
- [2] O.A FADIPE-JOSEPH, Y.O AFOLABI, B.O. MOSES: *Coefficient Inequalities for a Class of Harmonic Univalent functions* Gulf Journal of Mathematics, **3**(4) (2015), 85–97.
- [3] J.M. JAHANGIRI: *Harmonic Functions Starlike in the Unit Disk*, J. of Math. Anal. and Appls., **235** (1999), 470–477.
- [4] KH. AL-SHAQSI, M. DARUS, O.A.FADIPE-JOSEPH: *A New Subclass of Salagean-Type Harmonic Univalent Functions*, Abstract and Applied Analysis, **2010**, Article ID 821531, 12pages.
- [5] P.L. DUREN : *Univalent Functions*, Springer-Verlag, New York Inc., 1983.
- [6] C. POMMERENKE: *Univalent Functions with a Chapter on Quadratic Differentials by Gerd Jensen*, Vandenhoeck and Ruprecht in Gottingen, Germany, 1975.
- [7] J. QIAO; X. WANG: *On p-harmonic univalent mappings*, Acta Mathematica Scientia, **32** (2012), 588–600.

UNIVERSITY OF ILORIN
 FACULTY OF PHYSICAL SCIENCES
 P.M.B 1515, ILORIN, NIGERIA.
 E-mail address: famelove@unilorin.edu.ng ;famelov@gmail.com

UNIVERSITY OF ILORIN
 FACULTY OF PHYSICAL SCIENCES
 P.M.B 1515, ILORIN, NIGERIA
 E-mail address: olanike20@gmail.com